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AN BEHASH
M XSG L5
el BOHE AW (el @2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—F5Y 58,000& *70H x23| x5 40,600
— X< 58,0003 *70H x235| x 1 8,120
— W&l 3,000& x70H 23| #25! 10,500
— 2SAIE BY S 20,000& *70H 23] 2,800
307 QI2t0| M 59,152 75,250 A 16,098
02 DIZtBAAMEE X 47,632 65,450 N 17,818
O0x=HE A€ AFEHl 47,632,000 47,632
B3 OIAHMBPI2IHIEX 11,000 9,800 1,200
O0x=HE A2 224l 11,000,000 11,000
06 282 520 0 520
OS%& &oiEd It 500& 1,040 520
FOIXXAEH 43 X 162,500 52,200 110,300
201 Bt A H| 145,400 40,000 105,400
01 AFR2 2t 2l Yl 145,400 35,000 110,400
OFUXX 2L XN 122,400,000& 122,400
OFIFURA LS SENLY)
5,000,000& 44 = 20,000
OFOUXXAE S0t EHAUHSE AKX
a3 3,000,000& x 1} = 3,000
203 R =&lY| 2,000 0 2,000
03 Al =X H R =X Y| 2,000 0 2,000
OFUXX SR=&A 2,000,000 2,000
301 dBtE A= 2,000 2,000 0
09 HAtAHIEA S 2,000 2,000 0
OFZFOUNILHS S5 AL ol
250,000 x2H x4 = 2,000
303 ZAZ 13,100 10,200 2,900
01 ZA 2 13,100 10,200 2,900
OFUXNXHEH S5 Bt Al&t2 3,100
— xR 500,000& *2 = 1,000
- 300,000& *3H = 900
- &d 200,000& *6JH = 1,200
Os F0MEH SEEI AlAS 10,000
— X2 2,000,000& *x204 = 4,000
- 1,000,000& *3 = 3,000
- &d 500,000& *6JH = 3,000
FOIXX =23 77,520 39,817 37,703
201 et A | 63,120 20,847 42,273
03 SHALZ H b 63,120 0 63,120
OFQUXX 23 N 30,000,000& 30,000
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N EHASH
(l:l‘E,

M XA Lat
el BOHE AW CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFTXAY &5 /328
600,000& *361 = *13l 21,600
O FOUNFE st
80,0003 *4H «364 = 11,520
301 gt L= 14,400 16,820 A2,420
09 SALAHIEAS 14,400 15,620 A 1,220
OF2UXNXAY &S /A3Es FIHA S 44|
200,000 *3601 = 7,200
OF= FONXYE At HIIX S44)
50,0003 *4H «364 = 7,200
FOUXNEZOH 2 14,450 177,505 A 163,055
201 Let24d] 9,350 126,100 A 116,750
03 A2 S HI 9,350 0 9,350
OFQXX =302l A3 9,350
—Rx=30tcl U 24| 9,000
SO &l 7,000,000& 7,000
= gtila] 1,000, 000& 1,000
- M2l 1,000, 000& 1,000
—R==30t2] AU & AtH| 350
- J2 70,0003 x5H 350
301 getEd= 5,100 48,105 A 43,005
1MIIEBESS 5,100 7,400 A 2,300
OFQUXX =30l A3 5,100
—R+=30tcl AU A= 5,100
ESEES 1,000,000 «10H = 1,000
= 700,000& 200 = 1,400
&d 500,000& *3 = 1,500
B 300,000& 40 = 1,200
S¥UHsEE =& 6,060 6,060 0
201 L2l 3,900 3,900 0
01 At 22l 3,900 3,900 0
OANZEELYs & 5 Y2 23l 900,000 900
O8&is 22l 3,000,000& 3,000
202 o4dl 2,160 2,160 0
01 = LH o4 1l 2,160 2,160 0
OZUSHE FRFA 0l
20,0003 *3H 3L 128 2,160
HEMHMIPE =& 16,760 0 16,760
201 Zer24] 16,760 0 16,760
01 At 22/l 16,760 0 16,760
HEMH HE =& 222 M| 14,800
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N EHASH
E: GxHY 2
el BOHE AW CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— ZAH 340& x10,0000H 3,400
— 89 33,000& = 1000H 3,300
— X-thi 27,5003 4004 1,100
-2 140& x50, 0000H 7,000
ORHAN dFHMUN2AAS 39 =&
70,0003 x14H #23| 1,960
ANEetd &2 10,990 10,990 0
A etz 2el 10,990 10,990 0
201 Let24d] 10,990 10,990 0
01 At 22l 10,990 10,990 0
OBUYE S NANERX 24|
7,000 *3H %1902 3,990
OXgxietgos 24 7,000,000& 7,000
gty e 243t 546,162 442,065 104,097
= 5,552
Al 540,610
ASIEH A 25t 520,362 433,665 86,697
< 5,552
Al 514,810
201 Let249] 15,400 10,150 5,250
01 At 22/l 1,400 7,650 A6,250
OMEIEH & HAXE S4lHl
7,000 »4& «53| x 102 1,400
03 &AL S HI 14,000 2,500 11,500
O=02stH A3As 7,000,000& 23 14,000
301 et d = 18,154 1,050 17,104
= 5,552
Al 12,602
02 Het=z stttz 11,104 0 11,104
OFAY s A Z(MOISXEX HH)
1,388,000& 8H 11,104
< 5,552
Al 5,552
09 AL HIZ &S 7,050 1,050 6,000
OAMEIEH AL S EIHAH 24l
7,000 3«53 x 102 1,050
O=322sHH *1I3& =48 10,000& +600L 6,000
307 21201 A 486,808 422,465 64,343
02 UAFAAFEX 291,063 291,063 0
ORd - AZHXIIH X AAE A HI
40,000,000& 40,000
ORFAIMOtS3l AL HI 129,086, 000& 129,086
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N EHASH
E: GxHY 2
ol pIAEE a3 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHIZAHAII2s REAE A3 AHSH|
40,449,000 40,449
Ost=TtrEAEU AKX ASH|
33,302,000 33,302
ONHESEHEAES ArHHl  48,226,000& 48,226
03 HAHMEE2LHIES 195,745 131,402 64,343
ORd - AZHIMIIHAXAAEH 2SI
20,000,000& 20,000
O=g2s=H 2494l 146,043
— S2HAMMOtS3 48,681,000& 48,681
—HIZ2HAII2s RFEAE2AS
32,454,000& 32,454
— I NRSAY SEAIX=E  32,454,000& 32,454
—HEsS FHAE2S 32,454,000& 32,454
O=02s=H =X& 22X
158,500& = 12& 1,902
OZUSSEHHM(Ht2AADI]) ISP
27,800,000 = 1CH 27,800
IR =s 243t 25,800 8,400 17,400
201 Let24E] 5,800 8,400 A 2,600
01 At 2t 2l 5,800 8,400 A 2,600
ORFHAIRAAMARS] HAAY =
70,000& x10Z x43 2,800
OJIf =3 43 234 3,000,000& 3,000
207 RO ] 20,000 0 20,000
02 & AHIH I 20,000 0 20,000
OJI8® EHOIX = 20,000,000& 20,000
AA7E = 9,600 9,600 0
= 9,600
eI Z2Hsd WX X 9,600 9,600 0
< 9,600
301 et A3z 9,600 9,600 0
< 9,600
1MIIEELES 9,600 9,600 0
Ogsrd) 2HsSH TIdHd 22X X
9,600,000 9,600
= 9,600
Sl JIgxE S 7,240 6,820 420
= 5,000
Al 2,240
Sdl DItz o 7,240 6,820 420
= 5,000
Al 2,240
SE0IEF2 FXHIA 5,000 5,000 0
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EX: EHAS
Hu: SA0H JIYHEA
R S22l Dt s (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 5,000
201 LBt Y| 4,400 4,400 0
2 4,400
01 AP 22| H| 400 400 0
OE8012F0XNY XNEEos 29|
400,000 400
= 400
03 A2 H H| 4,000 4,000 0
O=¢st0l €01 A2 H| 4.,000,000& 4,000
= 4,000
301 et A= 600 600 0
= 600
09 HAIAHI BAZ 600 600 0
O893 240 g 44| 600,000& 600
= 600
S=ENSEIEANYE =X 2,240 1,820 420
201 gBt24y| 2,240 1,820 420
01 AF 2t 2| H| 2,240 1,820 420
OY=DREAAAS 30 4+
70,000 x 16 x23| 2,240
ZRHHBL 258,825 0 258,825
2R FX 258,825 0 258,825
LAz 258,825 0 258,825
308 MXISHHMSOIA 258,825 0 258,825
M IIEtREE2 258,825 0 258,825
OM78 MZSAANEHH =H L AA HH|
NSRS 22 258,825
— 22 RALK T 87,026,000 87,026
—S4dH22RAE S 85,955,000 85,955
—HAHAH2KAX T 85,844,000 85,844
UHSHHH (R0IASD) 52,740 45,120 7,620
Jl2 &l 52,740 45,120 7,620
Jl2 &4l 52,740 45,120 7,620
201 et 21,180 17,880 3,300
01 AP 2t 2] H| 20,520 17,280 3,240
OFME8Y JI22&H| 20,520
— 2Bt 2 Y| 40,000 19 x12& 9,120
— g 2| 50,000& 19 x12& 11,400
02 E232%H| 660 600 60
oREe2 55,000& ~12& 660
202 04| 27,360 23,040 4,320
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